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Choose the appropriate figure from the%nswer Figures to replace t
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Choose the appropriate figure from the Answer Figures to replace the question mark (7).
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3. oo aa ¥ R R, o arfeer & fag e 2 _
(A) ke (B) WTSHIBIH (©) FaER :
PIANO is to MUSIC, then what is to LITERATURE ? = Wi (D) fear
(A) CRICKET (B) MICROPHONE  (C) ARTIST = .
4. HEE ORI : y -
R e : e e _8 :
A T B) T N (OB o
Complete the analogy : <] ) HE
'Otitis media' : 'ear’ = 'Catar_aqts' S5 g :
( A) Bone (B) I;idney @ ' (C) Eye
%‘@ : (D) Lungs
5 7%149&11@%,37?93""‘3“&@ '®
: 7 is related to 49, in the same way 9 is related to ;. B
@ 2 ® * Q7
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T AT TN % 1T hifvre | :
(&) _2.5% (B) 28% @ 30% D) 3.5%
The given bar graph shows the marked price of five different products in a'showroom.
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15000 | 12900 ey
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Iftohe marked price of the laptop is 15% more than fts cost price and the shopkeeper offers a discount of
10% on the marked price of the laptop, then find the gﬁt % of the laptop. -

(4) 2.5% B) 28% 30% (D) 3.5%

W,Ng%mmm%lagwmﬁm%mﬁsﬁmm_wm_ﬁ%gﬁw% - .
T Y S ko AR | S A b e A e R x| km A T |

B) dwam  (B) W (C) aforgd (D) S
Arn wants to go to Anu’s home. Anu’s home is 5 km No s

_ ! rth-West of Priya’s home which i
V125 km East of Tharun’s home. Tharun’s home is 5 km North-West of Arun’s home, In whjch\gir:;:tiol;
E;?runs home from Anu’s home ? &

S A i
; outh W;st ﬁ(:) Nortl; West mg) ﬁmS:outh-East (D) North-East

h‘“f??ﬁaam , ST T 7T 9152 3 WY AR o7y TCE | I J Uy Fy et
wm?ﬁmmaﬁﬂmwﬂmﬁm ® TR e s ot
( ] WW:"[NDEPENDENCE" O
% NEEDED (B INDEED ) _PEENAD

the following question,

i ; a giv .0 f th
f)rds Cannot be formed using the letters of the given word. Identify that word e i -
(:en Word : "INDEPENDENCE" '
&mz NEEDED ' /. (B) INDEED (C) PEENAD (D) DENIED
- 4 _______________________________________ .
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(A) 3R e srroor ey &

©) qﬁrﬁmﬁélaﬁwﬁﬁwﬁw@w

Read the statements
in the Statements.

-

(B) et Free 2 ST AT &
& (D) et fred | STgEROT T

and Sclect the best conclE;;ionfconclusions that follows/follow the assumptions mad

i
- Statements - @
1. InaT20 cricket match, the total runs me by a team were 120,
2. Outof these, 60 runs were made by spinners.
Conclusions -
L. 20% of the team consists of spinners,
2,

The middle order batsmen were spinners.
(A) Both the Conclusions follow

(B) Only Conclusion 2 follows
(©) Neither Conclusion 1 nor Conclusion 2@110ws

(D) Only Conclusion 1 follows
i A ﬁw%f@aﬁﬁmwémﬁw@rﬁﬁﬁ%:
M % N3 M, NFT 5 | ® ‘

M@N®T3f g M, Nfragrd)
M$ NFTSI &M, N e | a
Fr=fees § & e ge s, Q 1 firar 3" 2@ 2 9

&) 9ss@p By P@Q%S @___(_C) Q$P%s

— X 2 4 (D) So
Each of the/ folidwing questions pettain$o the given informatiop . Q S8%p
M % N means M is the son of N. . o

M @ N means M is the sister of N.
M § N means M is the father of N.

Which of the following represents the relatio@)ip "S is the father 'on_n 9

(A) Q$S@P P RBA%Y @ . © Qseyg ® =
' , _ ) Q@s % P
G AR T T g
" Find the word that can be formed using the leftcrs "G, vAn "R", "N, "_1“?\"’1"-.
A) GRIND (B) TRAIN ¢ (©) GEar s
. e T o e B i OlNiggy
e R A e v g B g o el K
ol ted to Rain in the same way as Air is relateq 1o , il D) RS
Clouds are rela ® Wam © Wind V0B s
(A) Cold i Pagedafzg el 2 B
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17\ g
NEVN- At &
fipa RTera =t R amrsma 8 9 ®
(A) 8 (B) 14 © 13 (D) 17
Examine the provided diagfam and respond to the following question.
O —> Employed people
I:] —> Backward people
o
A — Educated peopl&) :
How many educated individuals are considered b{el(ward ?
@A) 8 (B) 14 ® () 13 D) 17

15, @Gﬁwﬁ,%mw%gl =ftr il

et sfte &t s <t werm 3 TR A,
S 8 feh T S e T ¥ | ﬁﬁﬁﬁ@%ﬁ%ﬁw%mﬁm%ﬁ% ?

In a survey, it was discovered that 21 individ

, 15 individuals read both Hindi and
12 individuals read both English and regional lan

guage newspapers, and 8 individuals read all three typesj
of newspapers. How many people read only regional language newspapers ? -
(A) 10 ; B 12 : (©) 14 (D) 8
6 wEemgedRe BE -
Find the missing number. g @)
_ 13,1,17.2.2F - P e
® 9 B2 " & ey @) s
1. W istsifm e o B
Find the migsing pattern. : e
C22D, ', CéD4, C58D, C106D - i g
@ cBp B) c2c3p @ () ccp7 (D) C2c2D
B, AR alb=a b, Teft yerm, p=5aﬂtq=4€r9rqtp!q$@@w%?, |
If alb=a—b, what is the value of plq if p=6 and q=4 7 '
i &) 2 B) 127 (©) 10 (D) 8 '
; ‘%@fﬁmaﬁﬁmﬁﬁi&m% "fafta =7 & ST F & e et Seew Sar 2 |+ v T
ML s L) v LN _ | .
(4) TS 1 Srefireh wawl TR IS e e e . (B) PRIt srem Y aret e i qurc et
O stfiafire waré s oo € rom A 2 '

‘gnté'fli:her tell

(D) V&l vevhr sifrafigy
s her. students, "Study

ing regularly leads to better academic performance.” What is the
Dlied Meaning of this statement ? -

©) Studying has no effect on academic performance (B) Regular stu dy habits improve grades
| -‘Au'i«“'*- gular studying is equally effective

--------------------------------------
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S{A)_ 8 ofteX _ (B) 6&fiex @ R (D) 12 e _

10 litres of a mixture contains milk and water in the ratia of 17 : 3. After the addition of some more milk to

1t, the ratio of milk to water in the resulting mixture beéﬂmcs 7+ 1. The quantity of milk added to 1t was.

(A) 8litres : (B) . 6 litres (@) 4 litres (D) 12 litres .

AT HY A 20% T FH TH 7T 1 T 8,000 7 126 Rt e e ¥ Ta S 8 | A e

TR e Wit fercim feram @ 2 & . -

A reduction of 20% in the price of rice enables a cusrL%J-ner to purchase 125 kg more for T 8,000. What 1s

the original price of rice per kg ? : '

(A) %16 (B) T12 (€) Tl5s.  sait (D) T14 _

%ﬁwaﬁmaﬂaam%lqaﬁsﬁmaﬁmaﬁmzs%ﬁﬂwﬁnsmwaﬁww%mwmw
; _

The average of 9 numbers is 30. The average of the first 5 numbers is 25 and that of the last
3 numbers is 35. What is the 6 number ? I

(A) 30 (B) 40 (0050 “ A (D) 20

AaﬂtBﬁaﬁaﬁn@zﬁmfmoo%,Baﬂtcﬁ R ST 1560 & 3T A 3R C i i Al

SRTT 1440 2 | A1 C 1 Il S FE 2 - e

The average monthly income of A and B is 1400, thai:ng and C is T 1560 and of A and C is T 1440. The

monthly income of C is '

(A) T1500 (B) %1400 (@) T1550 (D) T1600

42 31K 49 Fhi gl F AH.A(LCM) 3fic .99, (HCFYART 3T9Td T © ?

The LCM and HCEF of the numbers 42 and 49 are in th&atio of

(A) 7:2 ®) 42:1 - (ﬂﬁi)g:’;:f- (D) 5:6
m@mmamﬁaa%gqﬂmqrna T B I 10 FHUE H IR Tl & 37 T Tt g

gs@zﬁmwﬂ%nﬁ@@ﬂaﬁ@ﬂwﬁwmm|

: 2t 2
(A) 3007, 180 fEReI/eeT (RO T F\oj{’\"\&;’
(C) 2007, 50 FHIEET | (D) 3607, 216 fepefi/erer 6

travelling at uniform speed, clears a platform 240 meters long in 10 seconds and passes a

A train : : f the train and its speed
d: .Fmdthelengtho peed.
e B e e D o st 57 4=
] m :

200 m, 50 km/hr - : - ; . Z o
© £y <o 9 W 35 mwwgm%ﬁﬁ*@,@ﬁ@maﬂﬁﬂﬁm{gﬁm‘gfé
90 Y ;Wga ® e o (o i (D) 1.8 ¥ '

‘1. by a train 35 m long, running at9 in crossing an electric pole is
The t1me taken by (B) 1.4 seconds (CY, 5 seconds (D)“1:8'second

: s

(A) 1,9!seconds maa?fﬂmajﬁ?“%@mﬁaﬁraﬁmam |
wﬁﬂ“%mﬁwﬁmwm R A2 S AR it

@Az 50 L T le employees in a firm s 52 and that of female emplo

The aveli E;;yse osf:lt?]rgemployees v;;i/ %50, what was _the_( gn)arcggzge of female emPIOYCesY;es was ¥42. If the
mean 52 @) 25 D) 869 '
(A) 20% E ﬁmz’a%m{ﬁmw%ﬁrﬂmo wﬁmq@maﬁ@ﬁ;m

B 227 " =i =t 3
qﬁﬁ@%" iy ) 1ot 3l-%whatdiffere' does i S o
= pe reduced fro™ i e Cloes it'make 1o g papg,, i
1 the sales ! rice is 4,200 et i " Who purchases an

. mar - 1 Soce I .y .. 1 ; s

art;cle;WhO —‘-_Sl.a.) -------- 3 Pageﬁof2-4“"'""'"'-----.(P_)_ %9
Gy R0 et T T T e 2 e
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29. _ .
i 50% 1 TRE A, ey Q 3 1A foft 7 2006 oy et oy | 1w o 5 i H 228210 F eI F Q A
R R ?
p, Q and R enter into a partnership by investing their capitals in the ratio of % : % . % . After
4 months, P increased his capital by 50%, but Q decreased his capital by 20%. What is the share of Q in
the total profit of ¥ 28,210 at the end of a year ? 3
A) 10,140 B) %10,075 (C) 83,200 (D) 97,500
(A) (
30, 5 T ST st ey ot o7 15 ¢ 14 R, TR srfora e 2
The rati020f cost price and selling price is 1.§<] 14, then the loss percent is s
. (A 165 % (B) 40% ®) (€©) 50% (D) 65 %
1 10
3. % AL % ma@wwﬁ@CM)?@ﬁml
: 11105 ®
FmdltheLCMofyﬁ, 9° 18" @ |
11 10 ; 10 - F37
@ G@L U © 7 @) 7y
32. - T37,500 T 4 ST 3 fo1 2% Wiy od oY 3T & WTEROT SATS <hl TUMT <RI | '
~ Calculate the simple interest on ¥ 37,500 at the rate of 2% per annum for 4 years.
(A) T3500 (B) £3000 (C) %4000 (D) %5000 _
33. uéﬁ.'r?zas%z_sorhzr?iaﬁaﬁa’nﬁzl oAt # 37 Hehel &, I fohei Tk 200 X Tt ae AR s F 18 &
? | Lﬁ;_%};ga ¢ U X 80 SHp :
(A) 40<SH %WSW f (C) 28 W+ (D) 60EH _
Ifiﬂ’."n?i boys can buﬁd fzitlwall of 280 m lenggin 21 days, how many boys would take 18 days to build a
similar type of wall of length 200 m ? : _
(A) 40 boys (B) 48 boys g (C) 28 boys (D) 60 boys
34, i : : :
h ST SR 5 T 4% 1 T2 31 R SGFF 15 Tt bl Tiee 3 v O o Tt T & 38R 3 b
35% 1 @1 SHHTT & | 1 T ehifore f3h < SO e & ot i ST R '
A tradesman gives a 4% discount on the marked price and gi i i
gt y
. and thus gains 35%. Find out by what perCentagepthe mmkegévlf:i(?; is aféif;ee f:;stt):ﬂgf T 22 artlcles
- 2 TR 3R | AIR O W o o 14 R & ' q -
R | 4 At 3K 2 gov firer i
ﬁi'qﬁwwﬁgﬁﬁ“ 600 m.ﬁ,ﬁgq%maﬁuﬁfﬁ?mmﬁam?r%v N
en an woman f{; : . >
doitin 8 days. Ifa mac:lge:}:sr T?gocomplete a piece of work in 14 days. 4 women and 2 men together can
(A) 450 i g(B) . 488‘“ day, bow much should a woman get per day ? '
% o Bl ® © = 360 (D) T400
‘maﬁ““ i ﬁ"(ﬁaﬁ” 20%3 %ﬁﬁmmmﬁ@ﬁaﬁsﬁmﬁwa& 60% = T | A
RN Wb Wik e Bt 2, ?%Haﬁa%%aﬁaﬁ@ﬂam% 7% frod o @R e St A
A factory’ : .
hngs year: Isf)t’ltl":ﬂiibudget for the Purchase 1-employees’ protection shoes increased by 60% this year over
Vear ig what perrc):e 0:3 of the shoes increased §% 20% this year, then the number of shoes it cari purchase this
3. ‘2z cy Nt greater than the numberf shoes it purchased last year ?
_‘A‘ﬁ:r-_ir_____?_i ______ (B) 142% (C) 48% (D) 140% LA
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38.

39,

40.

" (A) 10 (B) . 280 . © 312

- Choose the correct mirror image from alternatives

@ &, A 3EeRT I 1 2 3 B W
T firsgor 3 gy offt ot o o 3 1 7% 1 AR v o & IOFﬁ?IWﬁﬁFﬂ%%

%m‘ra&:rﬁ?rrtﬁkammsrmaﬁﬁm D) 0=
(A) s e B) 11 € 13 H_ '3_’*' N T
The ratio of milk and water in a mixture is 3 : 7. If we add 10 litres o
becomes 1 : 3. Find the initial quantity of milk. e 16 s (D) 10 litres
(A) 15 litres (B) 11 litres . O . :

1000
Eﬁ?ﬁf‘maaﬁﬁgwm@ﬁmmﬁﬁﬁﬁa)qu@ﬁ%aﬁufﬁﬁ?ooﬁm%aﬁSﬁ_*mf ®
STt 2 | 4y TGS W et off 9 < :

ertain compound
The amount of money appreciates to ¥ 700 after @years and to T 1000 after 8 years at a ¢
interest compounded annually. The initial amoun{gf money was

(A) =499 (B) T410 & (C) T430 - (D) %470
e 2 farew (i) s B %

Find the odq one from the following : il :
(A) 4096 (B) 4913 (C) 5832 = (D) 3380
RS iSiteny PIC 1R STt He w1 hifve -

Find the next number in the following series :
220, 221, 229, 256, i

(D) 320
fomrea 1, 1, maﬂtwﬁﬁwaﬁw@iﬁgﬁqaﬁ XY RIS 3 |

IL, 1T and IV if the mirror is kept at XY

S Q@ Vi ’CM e,
L G S

ATl

Ay I | ®) m = 2+ (C) TV
) | ST =y

SR,
42. iyt e o 7 o R g ™ T ot e e 8
st e - @) W Q whm D) ‘Fer
- (A) ; a man as the son of the @rother of her mother Hovs
Sindhu introduces a | $ the man related to
Sindhu ? h‘ew (B) Grandson & (©) Cousin s (D) SR
(A) Neph ﬁwwﬁwm%&ﬁw@m#@@mﬁwﬁﬁmm .
43. @wgglﬂwhf B) 4R @J(CL SR “ D) _2@5’}"#.
i km/hr, how | ill ; :
travels at a constant speed of 65 : ,.O_I_lg il ke cto “Cover a distance of
A car tre : ' A | PR |
195 km? 3 4br een () Q) Shr - D) 7
NS St =t o 0
(A) L e —emmmmm=n . ‘Page 8 of 24 e
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i 3| ! : 3
4, % “GREEN" 31 Teq e 49 2, @ “VIOLET” 3K “PINK” am@rﬁ:ﬁ%sa‘}aaﬂ aqatam% 9 S,;_Jg L
If the number code for “GREEN” is 49, then the difference between the number codes of “VIOLET’;-;nd
«pINK” is :
. I 6
@A) 45 _(By—33 (©) 60 (D) 55 g q_
5, e, AW, S s o, s A ¥ | m”laaa%:sqmwa‘iﬁﬁ ST T T &, Hmzc L

o, ST 3R Afe |

3 Afa T @ € | i e T a1 J:maqﬁ@ﬁlmaﬁtwwwqﬁ
@S 8 laﬁmaﬁtmﬁzaﬁwmmmé 5

7ered foshedl § § o R ER @ e ? e

1. AM-E, S e, WA (@)

2. WA, i - e, O - e ®

3. A9 - eTEE, W - drae, T - TRt

4. S, i - e, o gl

IEHEA A - T ST @ ? '

@A) 13R3 B) 233 (C) 334 (D) 234

Three children, Sam, John and Ann, are eating icecream. Each child eats a different flavour from available
flavours, namely Chocolate, Strawberry, Butterscotch and Vanilla.

Sam does not eat Vanilla. John does not eat Stra&tl?eny Ann never eats Butterscotch. Chocolate and
Butterscotch are not eaten together. Vanilla and Cho@iate are eaten together.

Who eats what flavour from the available options ?

1. Sam — Strawberry, John —Butterscotch, Ann — @,I;tocolate

2. Sam — Strawberry, John — Chocolate, Ann — V. nilla

3. Sam — Butterscotch, John — Chocolate, Ann — Stzawberry

4.  Sam — Chocolate, John — Vanilla, Ann — Strawhgjry

Which of the above could be correct ? ®

(A) land3 - (B) 2and3 (C) 3and 4 -~ (D) 2and4

4. 7% stpfr g fore v e (X) wffa d |
Choose the figure in which the questioﬁ figure (X) is embedded.

] (SIBIBIE &

X 1 11 m v ‘:]
— G))
@ 1 ® m %] v D1
0. Prefefe jeer e ey AR ©
Find the pext n;mber in the following series :
(A) 20 Go‘f (B) 10 SO L . (D) -10
-AU%Zga"‘f"'“'*f'-'"“_"““"-"---"""-"-—“"“-:f“g.;g‘;;';f'ﬁ""‘“"“"“"“""""""'"._ ________



= 6o 1412
48.. sf@ETFIN R, STe e -8y A ?

In the series F JN R __ which letter comes next ?

(A) V. ®) S
e
9. a9 ot amaT R 2 E;
t.
What comes next in the following sequence ?._»»\’J
B,C,E,G,__ @)
]
A4) H B) &
50 aﬁ_ a . (ra.)
- IS sfEer § anre g1 SR | ®
Find the next one in the given series.
Eﬁ"'é %@ET :
Given series :
. ®
) ®) @
,..——G Q J
&
&)

51. T ey i st 4 dear I T | &

©) U

Find out the number of triangles in the givén figure.

’ //./ > "
g, )t T
ry j . '_’
. 6 10 O o
(4) 16 ®) 9 o
52 m@mﬁwﬁmmg? <]
. any rectangles are there in the chessbdfid ?
How m &
L
®
®
(C) 1298

-

D) T

D) K

)

(D) 12 -

.
-
e e s
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FHRP

53
e T T Feroeeit 3 & Sefes sjrent ahr v fon T IR |
Find out the next figure in the above series from the options.
N QO & @
I I : 111 <IIV
@) 1 ®) © 1% O I
5, A U o=t At e iR | o
Study the figures given below : @
N R~ ] &)
3 R e Rt & & e R g ot o R e et ot St e 3 for w399 2 -
From the figures given below, choose the figure that will be most suitable to continue the pattern given
above : . ‘
i A [~
i o I ,
(A) I (B) II (D) I
S5, WTGRd QU HINIC :
EETS | TIFNT% SHEA : = :
(A) FoSm@F) . (B-FHE (C) Hi&=H (D) &
Complete the analogy : :
Fish : Gills :: Human : ; _
(A) Liver (B) Lungs = - (C) Brain (D) Heart
56, Frrfeefer 3 & 711 35 -8 S oreh o ey cnfer A 8 2 i
(A) TSR By e - (C) - THT — TEahTFAT (D) Y — &
Which of the following pairs of words are most similar in n@ning ? =
(A) Stop - Go (B) High—-Low (C) CH]- Smile (D) Start — Begin
. o aﬁmﬂ:m@m%m@mﬁ(@q%m EY -
4 1T ST B, i (i) 9 e
TR %quﬁvrrﬁ ST (FhTH-HFT) Tl STHR TR 4 ¥
4) fiuEed . B Wa&@ (O (D) e
When a cone is sliced by a plane parallel to its base, but nqEpassing through its apex, what is the shape of
the resulting cross-section ? ' ' ; '
(A) Hyperbola (B) Parabola (C) Circle (D) Ellipse
8. e o s e g £ '
.. @& T EERE 1) T | < R (O Tem D) T
) o T e HEL L s in e A R S e

W

' ‘Page 11 of 24




(A) AN] (B) I
60.  wrey 35 e, U ATAHTH
R T T S, W T HAT O

FHIRFIR-AA@IE?

@) s @ S (C) TH f7ieP) T
61.  Torelt <t wrere o e 36 g G TR o

(A) W (B) W& () il
62.  Tohe ey i sheor e ot ST AT TR 2 : ®

A) Qo Ramamr (B) IR we =MeC! (]

()t fr s g e (D) T g dar 2 A

63 v wree o we o 8 5
(A) =f+fea (B) 3w+ ffed ©) 3 +ffed :913) ¥ + Ffed

64.  Torh e sreprentt it aie @ o SrereRT S T R 6 R AT ST @ 2 _

(A) Gogm (B) T

©) Tehrar=¢ R yem w0 3 g (D) *TTHEH
65. ‘S fopm o Hr Rt A 2 9 S -

(A) s - ® & ) © @ - (D) e
66. AT H wagamn: 3 ' ®

(A) wFaFT B) ®WE (O ®WEm (»]3) il
67. i wer FiauadgEent: é

(A) Rsgrm B) fewsamr (C) T grm gejn) Rt e
68. “EIT — B Y- o wd e R | ®

@ FW-gr @A O wEdd o Ry s
69. :a%_affﬁ’w—gmﬂ'ﬂﬁa?-f%: :

(A) WER-FER ) Wh-dlw (©) viiu-weh (D) ¥ — s
0. ‘anmﬁ%l’ﬁaﬂq-mam%? : : :

(A) T (B) WEaT=d © frmr=a D)_war=
L1 Freffea d A E AT § 7 - Q '

(A) T | (B) &HT" o ) e %1) EE

o o oy e S o FoTg I e < < v ' |

725 Wﬁﬂ.“fﬁ“ ﬁ-__-_ﬂﬂ34-,;@3:1-4%| _ . g

) qgasﬁaﬁmﬂmmz | -(E) Wgﬁ%@%m
o ﬁﬂ%@aﬁ% e R AR (B) S e g gy

A) Wmﬁﬁﬁwﬁrﬁw' D). S el o
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75.
76.

7

|8
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80.

81.

82.

| 8.

8s.

86.

87.

i
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e’ TR

@) I (@) W ©) e Dy
AT T T w1 2 '

(A) @ (B) T (C) e (D) 1

< 9 T S e e &, 3w e €0 .

(A) foisor ®) frm (). fora-firrwor D) T
‘WW’WWWW: o .

(A) St (B) amtagaﬂ@ (C) =T (D) Fromram
TR T T R - <] T
(NSRS B) =t % (©) ¥=at (D) o
g =1 i s | o

(a) fagl ®fm ©® o . © 3=
i <P R R e Yo |

(A) (') B)ir(2)- 153 s © ;) D). (-)
2020mwﬂ3w%awﬁﬁmnm? B

(A) a&smaaaa?“ (&Wfﬁr . (C) FwmEred (D) Aftrama ary
e & bz 0 Q0

(A)—SRIeHTE 6T % C(B) Sitferceiys e

(C) rwee foram 8 (D) stk fspar

St 7o 2 ek S TN 9 S R ST R 2 - _

A) s (B) 3-IHT g) SO & (D) EEE
“STeArIET (ﬁaﬁ)%W% ® ' _

Ay STETRST HE (B) Tw=Is Y&

) R@EFA (D) weER e fEad
ﬁqwﬁﬁﬁﬁﬂqwmwaaﬁaﬁmaﬁﬁv '

(A) - B)_3q-mr . (©) A~ (D) W
WW%WW%@%%WWWW%

et 3 gty — ST

(A) mﬂqm (B). aga‘\%mrr@ (C) YRy §HE (D) EE9HE

Sy H R EEFE? - @ |

(Ay— =T g B). R (Y (C) it T= (D) weredt &t

S 3y el B PR 3 & ) e v e ST 2

(A) ueft i oB) LB @ ) (© fodE (D) sr&T
Ersqw’fﬁwm%‘: I. : _ :

@) = B) @ (C) e A HEHe B T s
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%' TSI STTST e e s w1 ) orrfre & 1 14 R, 1949

MR w8, iifen g 1 o1 o) oft @ weRd € | g‘-ﬁwgﬁﬁﬁmﬁ%ﬁﬁwwaﬁ@

3 | 77 210 % ST TS o fererroiest

| SR Y om 120 % i o A e TR H
wm‘mwﬁmm%ﬁﬁmmﬁmmalm343a;344ﬁﬂ‘2qﬁfa%¥ﬂﬂﬁﬂaﬂ;ﬁ;
ST i | 35 v 3 e %WWWWWW%'W
%ﬁwwmmm%mﬁmﬁ c ®
- 0. i)ﬂg%wﬁﬁmwwmﬁﬁfﬁ =Y 51T TS © i
WINT I SERHEED
(©) =Raura smarp %; e gt T T
91. Torm el s ot ey sy srr o s T 2 2 | |
(&) wTet (B) Tt ©) fe=i (D) g
92.  TTSTMINT o W@ w&iof & § 3 & SH-aT ST AgT 2 2
(A) FHRIST W} (B)- |39 T Heh AT ®
(C)  aT i HTaHTeHS G HieHfies w791 (D) FmHifEaTs
93. fe=l st Rl s # o o wrmT T EE R 2
(A) 1948 (B) 1949 ! %) 1950 (D) 1947
94. TH IT=DE HI FrTRad § & 3fa v g | ' i
(A) WIS AN ﬂﬁq ST
(C) SicTaTe hi HTET ): TSI 3T T
95.  sEEH Tl HEAT J1d HITT - . b ars _
Find the next number in the series : ®
.- 57,43,29,15, . @
(A1 (B) 2 ©) 3 ®) 0 _
6. T A, B 3 C O MR Rfemm & =wi stk s ' '
? mﬁ@wwmﬂﬁlﬁmﬁm%mém&mwmﬁ ST ShmaT: 94 g, 36 Javg 31K 30
sfme | (B 6fmE C °q$#ﬁﬁﬁ? -
'(1'?13'66 friends A, B and C start running around a cirZ:ulir stadium s, - D) 12fF=
seconds, 3§ tsgconds and 30 seconds, respectively, é‘jter how many ?I?ii]ftg‘snpl_t‘ite a single round in 24
(Sfia;TL[;glgiilutes (B) g zliiz:utes % 8 minutes '(Dl)l they meet again at the
: Y Fda™ 3 T IThT 3T 31t 8 N9 12 minut
97. Qﬁaﬂ(a@ ¥ . G:ITE @) Wﬁ%aﬁ'{m =

e

aaﬁaﬁmmw%aﬂw |

F gl ? '
(A) 4oaﬁaﬂt44z§ @naﬁaﬂraw@
©) 44 99 37T 48 T @) 36 T 37kt 40
What are the current ages of Antony and Betty if thayr ages are it :

tio 9 : 10 four years from now ? © ratio § . g : . .
(rj\) 40 years and 44 years (B) 32 years ang 36 R and will be in the
(C) 44 years a"d_‘_uf { e S . ( _I?)h 36 years ang 40 Years -

g eSS e Page 14 of 247"~ ====-_ Years



W @) e © wewd ©) i
WﬁiCh chart type is used to represent the relationship between two variables ?

_(A) Line Chart (B) Scatter Pld) - (C) Bar Chart (D) Pie Chatt
| G)

9. mﬁﬁwﬁﬁ@aﬁﬁmaﬁgmﬁﬁﬁzﬂﬁﬁ%ﬁm%l

P S it fovet sty grer it ey o o et o e (e o ),
s L wwewm ©
4AH | 7AH |.32AH | 35AH | $8AH | 71

—_—

1992 | 75 | 144 | 114 | 102 | 108 | 543
11993 | 90 | 126 | 102 | 84 | 126 |28
1994 96 | 114 | 75 | 105 | 135 | 525
1995 105 | 90 | 150 | 90 | 75 | 510
1996 | 90 | 75 | 135 | 75 | b0 |465
1997 | 105 | 60 | 165 | 45 | apo | 405
1998 | 115 | 85 | 160 | 100 | @45 | 605

o o P ety e o 2

(A)_4AH (B) 35AH © (C) 55AH

® (D) 7AH

The following table gives the sales of batteries manufactured by a company over the years.
Number of different types of batteries sold by a company over the years (numbers in thousands),

Types of Batteries
Year P .
4AH | TAH | 32AH | 35AH 56AH | Total
19921 75 | 144 | 114 | 102 | ®8 | 543

1993 | 90 | 126 | 102 | 84 | @6 | so3

1994 | 96 | 114 | 75 | 105 | B5 | s25
1995 | 105 | 90 150 90 \u§5 510

1996 | 90 | 75 | 135 [ 75 | 8 | 465
1997 105 | 60 | 165 | 45 | 150 | 95
(1998 115 | 85 | 160 | 100 | 145 | 605

“Which battery has the lowest total sales across all seven years ?

(A) 4AH (B) 35AH

i

(C) 55AH (D) 7AH |
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100. - 5 - !

“ﬁf M+N#H ot M, NfraeT | ) G ><;<’2:—7Q’T£=. XX 2 4 Yot

M-NFafg M, NFTER | | '}ﬁu R D I
M X N1 M, N 32| P ]
4 - g i g 6 X, Y S, e X v . D) XXZ+Y
(A) Y XZ+X (B) ZXX+Y g,) S |
If M+ iﬁmeans M is the sister of N.
M — N means M is the brother of N. @)
M XN means M is the daughter of N. & X’s gender is male ?
which of the following shows the relation that X is the m}temal uncle of Y, where £
(D) XXZ+Y
(A) YXZ+X B) ZxX+Y (QUXXZ Y
SR 2 9

101. P,QHTWIRR, ARATEAR| S, TH MER AT, QW%' S, Q¥ fH ¥ qjaﬂ

(A) sl B) =T (@5 ==ht —(B)- .

P is the brother of Q, who is the sister of R. S is the brother of T and T is the mother of Q. How is Sh);elated

toQ? /2 ~

: 7*

(5) Nephew (B) Uncle (C) Aunt (D) Nlec%%%- @)\’,
102. A JUNE — 10-21 - 14 - 5, A JULY & | i

If JUNE — 10 - 21 - 14 - 5, then JULY will be

(A) 10-8-23-25 (B) 10-21-12-25 (C)14-12-8-10 (D) 10- TR K
103. Rt & 93%@@@11%@@@1:&:3@&&%\:]@%@ 1:30 aéra?rm%ﬁg%ﬁm:rﬁwﬁ 3

A FTR ? -

(A) STAEH  (B) :-mtq;q‘ (G@Efimqf‘ﬂq D) g
For a clock with 9 hour hand pointing towards theéEast, the hour hand

at 1:30 points towards which
direction ?

(A) North-West: ~ (B) North-East s South-west (D) o).
104. @ TeEm = ], maana?rtﬂa‘ Wﬁﬁ%mﬁqﬁ%ﬁ%mm% a‘r =4
bl | ‘Nﬁw T TER R b
») s ®) ;S ©
-1 Sunday is coded as January, Tuesday as March, Thursday ag May, then & \—,Er
(A) August (B) April (QD July 7 Dalurday i) be coded as :

g & I TR S S Wﬁ‘a’"aﬁ M) June
103 ?@?@@ (B) TE (Farem Fifmdy, _

nClock" is related to "Time" in the same way as "Map' ‘ﬁ]rﬁ'lated t

@)
G4y Loessn &) e (@ Vehlcl " Which Of the fOl11:’.\’|:‘lf-lli':‘j:‘:'j?T
106. qﬁﬁﬁﬂﬁ%%ﬁﬁmﬁm%aﬁtaﬁﬁm %% CartOgraphy
(a) AT : %‘}W ﬁﬁmé i
r(c G bl but shorter than Deepak £y "Tﬁfrﬁ;mm 5 Ayl y
If Mani is taller than Tony but § pak and Topy . - Just ag
then Mohan is ta "a M

(A) Shorter than Tony

(B) Tan
€r
horter than Mani th

an bllt taller than Gokul




et 3 & v i g ARG

107. .
Find the dissimilar number from the following :
16, 256, 64, 624, 1024
(A) 1024 (B) 256 : .(C) 64 (D) 624
108, FFTRE & & S e g T o)
Find the dissimilar number from the following : @
1331, 2197, 4913, 5832, 6859 -
(A) 1331 (B) 2197 ﬁt) 6859 (D) 5832
109. mwﬁaﬁa}mwowmﬁﬁmaﬁ@h%maﬁm% ¥ |
(A) T ®) e - Ho) = (D) YT
The renowned mathematician known for discovénn@'}he sum of the first 100 natural numbers'is” * -
(A) Gauss - (B) Euclid (C) Newton _ (D) Pythagoras

110.

111.

112.

Freafefles & 545 x 545 — 125 x 125 7 Reqe FTR 2

Which of the following is the output of 545 X 545 — 125 X 125 ?
(A) 285400 (B) 281400 (C) 287500 (D) 286500

A, B, caﬂm%{qw@a@a@%m C 3§ B, ]Z@T@?ﬂ%lD, c%anﬁaﬂr%ma;rﬁgqa‘ﬁsﬁ{%ia‘r
D& e fem s o b—-g © g
(A) <R B) TR 4 C) ufim

A, B, C and D are playing a ‘game of Carrom AL?
facing east. Then D is facmg

(A) South " (B) North . @) West

ﬁnﬁmmﬁmmﬁmﬁ Q)
C$1%E721'@I*#@A7* #>8Uﬁ5‘\rmg¥raﬂ'3ﬂ-{wl

w&mwmmmﬁmw% ?ﬁﬁﬁﬁﬁmﬁ%#ﬁ@aﬁwﬁ?.

o

(I:I;;w Iglany nunbersdts ?g;wzed by an alphabet if @3 second half of the series is reversed ?

i : - D) 1
13, ?WZOME%mmﬁW%W ! i )
(nA?a ; (g;oss Domestic Product (GDP)_ grew by in the quarter ending September 2 016
. 6 (B) 85% ‘Té) 9.0% i :
X S}Hzﬁwmmmmmﬁw%? ®
(C fﬁ:izzsam i : (‘?]3) 6 e 15 Tvs
Th) . 20 ‘ DR (D) 2ﬁ=1230ﬂm
(A;a 11§h$€$$e5 e l'eaches the Earth 111 about how much time ?
(C) 8 t Seconds ! (B) 6 minutes 15 seconds
:{ﬁ"}- """ o e Sl : (D) 2 minutes 30 seconds
D - RN ERE R e en ST
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ot forer 397 % T W AR 2 2.

1. ST et e o ferdier o) o ST et € | 7€

(&) FEes e By = ST

2 2 1g\_ﬂzvernment. This system is based on the

The Indian Constitution provides for a parliamentary system ot &

model of which country ? d

(A) United Kingdo (B) Canada e

(©) Australia o QD) United States of America
116. MPC %1 qof &y 2 4

(A) e e @B A R

(©) Al iz i R Tyt diferet HiEed

The full form of MPC is k N : ok

(A) Money Policy Committee ©)B) Making Price _Commlttef"

(C) Monetary Price Committee @D) Monetary Policy Committee
17. 579 fiew oo Pt s 80

(A) SRS fEw | (B) HEER % I9ew

(©) guasfmam - (D) HEHT ATHT

The book Vinaya Pitaka is related to : _

(A) - Thoughts of Zoroaster : e B) Preachings of Mahavira

(C) Rules of the Buddhist Sangha @D)  Sanskrit Grammar
118. GDP 321 1 ToR 3 ST e 3 fer e el fream 2 2

A) Fme . - @) _ui wifersh wrtem (NSO)

(C) s s it Rfe A€ (SEBI) CID) *meeta ot & (RBI)
Which Indian organization is responsible for calculafing and releasing the GDP data ?
(A) Ministry of Finance

_ s ' (% (B) National Statistical Office (NSO)
(C) Securities and Exchange Board of India (SEBI) (D) Reserve Bank of India (RBI)

119. ﬁ-mwémﬁémﬁmma‘mﬂaﬁﬁ?*%@ﬁ%mm%?
(a) fErdeRm  (B) WHYE

e i AR (D) et e
Which Russian author is famous for writing the psychological nove] “Crime and pyp; ”»
(A) Leo Tolstoy (B) Anton Chekhov (C) Fyodor Dostoevsky (D)un\}?hg‘]eqtlg |
; adimir Nabokoy
120. STE I T 1T ? | % HE Nl
(A) A (BT oty 0D, 0L e _
What is the capital of Laos ? s go _ -, (D) ﬁﬂqﬁﬂﬁ
(A) Kathmandu (B) Muscat | %C) Lima"~ ' . &
e t@f@ﬂﬁﬁm : s Vienti
' wme (WTO) AT oy v
() st fer 5 (BIS) . ) Rogde T 00 OME) Y
. ization i ible for smooth and predictable {7 1: 5 B
ch organization 15 res?on§1 P able trading 4
ggl World Trade Org-amzatmn (WIa) ‘ (B) Intemaﬁonafc;z([)ss € Datiopg 9
(€) Bank for Tntemao e ) D) World Bagye 2 Fung vy

AUT-24 "
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e e 3 Rt B S RS 2

What is the GST rate on mobile phones in India ?

A) 5% (B) 12% © 18% (D) 0%
. Shogdt ufteg # fire e € 7 8 |
' How many members are there in GST Council ? <] s

(A) 30 | (B) 33 | ® ©) . AD) 25
{24, STTHUT ohT TGSl <01 71 € 7 g :

(A)— T THET 1 =T R ® (B) GHEAT GG

(C) T S qE= Al ® IS T ETT

What is the first step of research ? 8
' Finding a problem

(A) Selecting a problem (B) Fi :
(C) Identifying a problem (D) Searching a problem
125, 18 S AT Y = 5 Wl AR . wEAd Rl

(&) T ARER B) FRwarmrR (C)'mﬁ_aqmﬂ HAD) nﬁa’aqfimm

All human rights of a person below the age of l@rcars are known as

(A) Child Rights (B), Special Rights <] (C): Legal nghts (D) - Human Rights-
126. wﬁaﬁwwaﬁnﬁa"r? ; ® - . ,

A) 2004 (B) SFE12004 Cl--.(C) SHatt 2006 - 1 (D) HTE 2002

When was Micro Irrigation launched % i - oh J i

(A) March2004 ~ (B) January 2004 '@ (C) January 2006 %A (D) . March 2002
127. eNE e R Aefidh a0 . .- |- S

(A) =TT B) THIRRPT . (C) MAwRR (D) TFEAF =y

\Xhat does the acronym “TBT’ stand for on social media ?
(A) True Blue Tuesday (B) Today’s Best Thing (C) Throwback Thursday (D) Téxt Back Time
128, CRISPR-Cas9 m@ﬁmmmmmmw%

(A) S T HuTeT

® (B) 7 wHIRT w1 Hsgwor
YC) ¥ T T ST < ©
The CRISPR-Cas9 EChnology is used for ®
(A) Editing genes
o O (B) Synthesizing new materials

(C) Detecting earth
cung quakes @ (D) Creating vaccines

129, ‘u@qagﬁﬁaazozwwﬁqa(aﬂn)w%? ®
(A) s 1 iz gy g farfr
©) mﬁﬁn%ﬁﬂqﬂ?sﬁzﬂﬁm 0 A

- What is the theme of D@ R SHHd shiel

e ‘Natlonal Maritime Day 20249,
Vl al
£3708 the Future : Safety First (B) Sustainable Shipping

C N w tec
(C) Ne hnologies for greener Shlppmg (D) Anmrit Kaal in shipping

o
--------------
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(W) S e "

B Hteqor (Rerereor) oy sy o P et srat ot 3 R
© aiﬁmfmmﬁm—q%ﬁm <]
(D) T3t 3 e vy 3 o ®

What is the majn goal of a pre-trial conference

i

. )

(A) To conduct jury selection ©)

_ B) To Prepare for trial and discuss settlemenggptions
©)

To render a final verdict
(D) To dismiss the case

131.

mmﬁméﬁmmﬁmm%w&w%mﬁ-w,wﬂ@ﬁ,w
A el 312 T 3 e e R | b i
(A) frnsif (B) wesT =Y (©) shiscHE dramast (D) Hrg-awehr
is the act of intimidating, harass

ment, defaming, or any other form of mental degradation
through the use of electronic means or modes s

%h_ as social media.
(A) Cryptojacking (B) Identity theft @ (C) Credit card fraud (D) Cyberbullying

mﬁmWﬁmaﬁa@mmmﬁwm%?
(A) T T R T A A St SRS | '
(B) _F& 7T, Semaehat 3 nfiies faemmer st St s |
(C) == Afirew anffer wdt 3 Frifa e |

(D) & ot A ettt e s 2 |

What is the role of artificial intelligence (AJ) in shaping future global economies s

132.

(A) It widens the gap between skilled and unskilled workers,

(B) It drives innovation, productivity and ecqigmic growth,

(C) Itregulates global economic slowdown. (=)

(D) It replaces all human jobs. c:] |
133. Wﬁmﬁ%ﬁ%ﬁaﬁ-mwwwﬁwm;

@) B) T G (© EwER 5

The first successful instance of Satyagraha led 6Y Mahatma Gandhi in In el Fe _ o

B) Bardoli (C - |

(A) Kheda (B) (C) Ahmedabag I (D) Chatigssin.
134, RGBS AT feereh SrarTer H I forarm T o i i 2

(a) e (B) e am seerere

Q) BT G S TR

T/h Quit India Movement was launched in response to : . §

e . - A = o i .
(A) The Cripps Mission (B) The J Elllia.rmral_a_l Bagh méssai-:re-.
(C) The Rowlatt Act | (D) The Simon Coﬁlmission L

---------
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135, IR ST 1 - Srge A T 3 e S HiNEr T % &, HIETAY 21 1t 3 Py 57 e
. HaTR? .
(A) =2 (B) T3 3 (€) 343773?5 (D) 7<% 1 .
Which Article of the Indian Constitution provides for the formation of new states and alteration of areas,
boundaries or names of existing states ?

(A) Article 2 (B) Article3 - (C) Article 4 (D) Article 1
136. w@wﬁqﬁﬁﬁm@zaﬁwﬁ@r&m%aﬂtﬁ?gﬁw (D)ammw%1
A pw < © D) ST
;a{)i :!S)ps are sown ilm(\\%ﬁter from Oqtgbcr to December and harvested in summer from April to
(&) June (B) May :}? (C) July (D) August
(&) '

137, TRE H T e T T SR R 2 ®
(A) e e it fme we |
B) Tl om0t fafvafia &
(©) Arishare-feret 3R sraewor-ferieft st s
(D) ATYTUEA Al T et AT

‘What is the purpose of the National Security Guard in India ?
(A) To oversee border security

(B) To regulate the financial market - ()

(C) To conduct counter-terrorism and anti-Hijacking operations
(D) To manage disaster relief operations 4:] Y

138. ﬁq%ﬁaaﬁ%ﬂmmwvfg@umﬂamﬁ@pﬁ%mﬁtﬁm%?_

(A) FHSRSAMEE B) WH . & (C) TR (D) HEA HHIEES
Which of the following substances is primarily responsible for acid rain ? —
(A) Sulphur dioxide  (B) Methane &)

(©) Nitrogen gas (D) Carbon monoxide
139. ﬂq-mésrmmmgﬁmwmagraaﬁa;%? ah

(A) s (B) LM . (©) afor spshrery =7
E’&];iclz}country is the world’s largest prdducer of wind power ? s | (D)
ermany (B) Bhutan C) South Africa i

140, m%mgqﬁrﬂﬂﬁ(ﬁﬁzmﬁ) A o Dt

(A) =t 9t Tt siar (B) =t um. ¥ amre

(©) ot uif= wum iy (D) aﬁwﬁqm“

Who is the Vice Pf'esident of India (as of Jl.l%)ﬁ 2024) 2 R O A

Eé)) gﬁnh;[) Hamid Ansarj YALTER (B) Shri M. Venkaiah Naidu
141, 2016 : mjf;l;r;dhan <I - (D) Shri Jagdeep Dhankhar

(&) THTY] 3511 h 32y gy v ki ] T
(B) G- %ﬂﬁm i

(© vy et 1 v v ®

What is the purpoge of th L
¢ Indo-J; ; ; ;
@A) Banon nuclear ene apan-civil nuclear agreement sj gned in 2016 2

, r
(B) Establishment of 5 i b
C) Joint development
) Cooperation i civ

of nuclear weapons
ilian nuclear energy, technology transfer and safety standards
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142. ﬁmﬁsﬁa%aﬁmaﬁtwmﬁaﬁ‘raﬂm#wmﬂ%: (D) Yo
(&) Tz (B) s (C) FFmst -
Movement of People in and out of an area is called : igrati
g : D) Migration
(4)  Death rate (B) Birth rate (C) Growth rate (D) Migr ’
143, %@Eﬁawﬁ%ﬁam(mm?ﬁ@nw%aaéﬁﬂé?ﬁ?
In which year was Alipar] i iversity ?
garh Muslim University (AMU) set up !
(A) 1877 (B) 1875 A ,U()c) 1901 =20 R
. ?
144, mﬁmwﬁq-mm%ﬁaﬂtm' m‘ﬁﬁﬁm%wﬁﬁm%mww ‘
{A) Irowdh (B) WATRIS (©) FTL _ FI?) E.' a 13.; — .
}Vhich City in Uttar Pradesh is known for its educatior@) institutions specializing in Hindi and Sanskrit
anguages ?
145, W-WWWWWWMW%WWW%WM 1998 = ol forr o
?’l%amnmgamm
(A) SEiar et (B) we Rig (C) T T (D) 3T &
Which Indian €conomist is known for his work on welfare economics and received the Nobel Prize in
Economic Sciences in 1998 ?
(A) Jagdish Bhagwati (B) 'Mamnohgn Singh ~ (C) Raghuram Rajan (D) Amartya Sen
146. I 31RrC oy S vt 9 3 9
A) uiefsie B) S wREe (C) @Hrsie (D) IEie S
Which author wrote “Jane Eyre” ? ; : R hds
(A) Emily Bronte (B) George Eliot (C) @mnne Bronte (D) Charlotte Bronte
147. IR T T UG GaR a9 R | -
=~ -_— w y
4) e Bl map © @OF (D) THTHTE
Twitter is a based communication platform, & e .
(A) Email (B) Chat - (©) orp __ (D) SMS
148. W ferqer@ o3t forer 37 3 Grer Arem e & 9 | | '
@A) (B) uifheam (C) shemRy ®) Yarer
India shares the Lipulekh Pass with which country ? .
(A) China (B) Pakistan © Clgangladesh D) Nepal '
149,  GRaOT SHITET & -1 AT 1 STANT fopar ST & 2 ® g
Which currency is in use in South Korea ? o QF v 5% g
(A) Won (B) Ringgit A ®) ven
150 STSHHTT g BT & STel Pl OIS A T TCTHGA: EITm”h:':?";&'?f?f*‘*ﬂ‘rn%|
e © ' :
(B) AT ©) =
G, - , a computer system or network is infecteq v a compy W
c ' :
attack is wherEeB) o (C) Phishing (Il)’;l_t,esr_ virus
(A) Hardware - g e N T Software
(A) B ey i o T T it LA I e il
AUT-24 '



